

Some results on derivatives of B - q bonacci polynomials

S. Arolkar and Y.S.Valaulikar

MSC 2010 Classifications: Primary 11B37, 11B39; Secondary 11B83.

Keywords and phrases: Fibonacci polynomials, B - q bonacci polynomials, generating function.

Corresponding Author: Suchita Arolkar

Abstract In this paper, we have obtained some results on derivatives of B - q bonacci polynomials. We have explicitly expressed the derivatives of B - q bonacci polynomials using the generating function and combinatorial form of polynomials. We have also obtained the results on the r^{th} order derivative of B - q bonacci polynomials in series form.

1 Introduction

Fibonacci polynomials and their extended forms of polynomials have many applied and fascinating properties [7]. Some generalized sequences can be seen in [1, 9]. In [2], authors have defined two new classes of polynomials associated with generalized Fibonacci polynomials and derived convolution property. In [8], Levesque defines m^{th} order linear difference equation and obtains a generating function for the recurrence relation. The authors, Yuan Yi and Wenpeng Zhang, have obtained the relation,

$$\sum_{a_1+a_2+\dots+a_k=n} F_{a_1+1}F_{a_2+1}\cdots F_{a_k+1} = \frac{1}{(k-1)!} \frac{d^{k-1}}{dx^{k-1}} (F_{n+k}),$$

where $F_{n+1} = xF_n + F_{n-1}$, with $F_0 = 0$ and $F_1 = 1$, see equation (7) of [12]. The properties of Fibonacci polynomials and their derivatives are studied in [5, 6, 11]. In [10], authors have defined new families of generalized Fibonacci polynomials and generalized Lucas polynomials and obtained some properties of these families. Further, they have established relationships between family of the generalized k -Fibonacci polynomials and the known generalized Fibonacci polynomials.

In [2], the class of $h(x)$ - B - q bonacci polynomials, denoted by $(qB)_{h,n+q-1}$ are defined by:

$$(qB)_{h,n+q-1}(x) = \sum_{i=0}^{q-1} \binom{q-1}{i} (h(x))^{q-1-i} (qB)_{h,n+q-2-i}(x), \quad (1.1)$$

with $(qB)_{h,0}(x) = 0, (qB)_{h,1}(x) = 0, \dots, (qB)_{h,q-1}(x) = 1$, for all $n \in \mathbb{N} \cup \{0\}, n \geq q \geq 2$, where $h(x)$ is a polynomial with real coefficients.

The B - q bonacci polynomials are extensions of Fibonacci polynomials defined in [4]. We define these polynomials as follows:

Definition 1.1. We denote B - q bonacci polynomials by $Q_n(x)$ and define by the relation

$$Q_{n+q-1}(x) = \sum_{i=0}^{q-1} \binom{q-1}{i} x^{q-1-i} Q_{n+(q-2)-i}, \quad (1.2)$$

with $Q_0(x) = 0, Q_1(x) = 0, \dots, Q_{q-1}(x) = 1$, for all $n \in \mathbb{N} \cup \{0\}$ and $n \geq q \geq 2$.

These polynomials are obtained by putting $h(x) = x$ in (1.1).

We state below first few non-zero polynomials of B - q bonacci polynomials:

$$Q_{q-1}(x) = 1$$

$$Q_q(x) = x^{q-1}$$

$$Q_{q+1}(x) = x^{2(q-1)} + (q-1)x^{q-2}$$

$$Q_{q+2}(x) = x^{3(q-1)} + 2(q-1)x^{2q-3} + \frac{1}{2}(q-1)(q-2)x^{q-3}$$

$$Q_{q+3}(x) = x^{4(q-1)} + 3(q-1)x^{3q-4} + (q-1)(2q-3)x^{2q-4} + \frac{1}{6}(q-1)(q-2)(q-3)x^{q-4}.$$

In [2], the following identities are obtained:

(i) The combinatorial form of (1.1) is given by

$$(qB)_{h,n}(x) = \sum_{i=0}^{\left\lfloor \frac{(q-1)(n-(q-1))}{q} \right\rfloor} \binom{(q-1)(n-(q-1)-i)}{i} h(x)^{(q-1)(n-(q-1))-iq}, \quad (1.3)$$

for all $n \geq q-1$, where $\lfloor \cdot \rfloor$ denote the floor function.

(ii) The generating function of (1.1) is given by

$$G(Z) = \sum_{n=0}^{\infty} Q_n(x) Z^{n-(q-1)} = \frac{1}{1 - Z(h(x) + Z)^{q-1}}. \quad (1.4)$$

Using these we can deduce the following properties of (1.2).

(a) The combinatorial form of (1.2) is given by

$$Q_n(x) = \sum_{i=0}^{\left\lfloor \frac{(q-1)(n-(q-1))}{q} \right\rfloor} \binom{(q-1)(n-(q-1)-i)}{i} x^{(q-1)(n-(q-1))-iq}, \quad (1.5)$$

for all $n \geq q-1$.

(b) The generating function of (1.2) is given by

$$G(Z) = \sum_{n=0}^{\infty} Q_n(x) Z^{n-(q-1)} = \frac{1}{1 - Z(x + Z)^{q-1}}. \quad (1.6)$$

If we differentiate the equation (1.5) with respect to x , we get

$$\begin{aligned} & \frac{dQ_n}{dx} \\ &= \sum_{i=0}^{\left\lfloor \frac{(q-1)(n-(q-1))}{q} \right\rfloor} \left((q-1)(n-(q-1))-iq \right) \binom{(q-1)(n-(q-1)-i)}{i} x^{(q-1)(n-(q-1))-iq-1}. \end{aligned} \quad (1.7)$$

If $q = 3$, then the above properties reduce to the properties of B -Tribonacci polynomials discussed in [3].

In this paper, we derive some relations involving derivatives of B - q bonacci polynomials defined by the equation (1.2).

For simplicity, from the next section onwards, we denote $Q_n(x)$ by Q_n . Throughout this paper, we will take positive integers, $q \geq 2$.

2 Derivatives of B - q bonacci polynomials

In this section, we obtain some relations involving the derivatives of B - q bonacci polynomials.

We have the following theorem.

Theorem 2.1. For $n \geq 2$,

$$\frac{dQ_n}{dx} = (q-1) \sum_{k=0}^{q-2} \binom{q-2}{k} x^k \sum_{i=0}^{n+k} Q_i Q_{n+k-i}. \quad (2.1)$$

Proof. Differentiating the equation (1.6) both sides with respect to x , we get

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{dQ_n}{dx} Z^{n-(q-1)} &= \frac{(q-1)Z(x+Z)^{q-2}}{[1-Z(x+Z)^{q-1}]^2} \\ &= \frac{(q-1)}{[1-Z(x+Z)^{q-1}]^2} \sum_{k=0}^{q-2} \binom{q-2}{k} x^k Z^{q-1-k} \\ &= (q-1) \left(\sum_{n=0}^{\infty} \sum_{i=0}^n Q_i Q_{n-i} Z^{n-2(q-1)} \right) \left(\sum_{k=0}^{q-2} \binom{q-2}{k} x^k Z^{q-1-k} \right) \\ &= (q-1) \sum_{n=0}^{\infty} \sum_{i=0}^n Q_i Q_{n-i} \sum_{k=0}^{q-2} \binom{q-2}{k} x^k Z^{n-(q-1)-k}. \end{aligned}$$

Now, equating the coefficient of $Z^{n-(q-1)}$, we get

$$\frac{dQ_n}{dx} = (q-1) \sum_{k=0}^{q-2} \binom{q-2}{k} x^k \sum_{i=0}^{n+k} Q_i Q_{n+k-i}.$$

□

We need the following lemma.

Lemma 2.2. For $n \geq q-1$,

$$\begin{aligned} \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{n-i} \\ = \sum_{k=0}^{\left\lfloor \frac{(q-1)(n-(q-1))}{q} \right\rfloor} \binom{(q-1)(n-(q-2)-k)-1}{k} x^{(q-1)(n-(q-2))-qk-1}. \end{aligned} \quad (2.2)$$

Proof. We prove the equation (2.2) for $n = qm, qm-1, qm-2, \dots, qm-(q-1)$. First let $n = qm$.

$$\begin{aligned} \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-i} \\ = \sum_{i=0}^{q-2} \binom{q-2}{i} \sum_{k=0}^{(q-1)m-(q-2)-i} \binom{(q-1)(qm-i-(q-1)-k)}{k} x^{(q-1)(qm-i-(q-2)-k)-k-i-1} \\ = \sum_{i=0}^{q-2} \binom{q-2}{i} \sum_{k=i}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-1)-k)}{k-i} x^{(q-1)(qm-(q-2)-k)-k-1} \end{aligned}$$

$$= \sum_{i=0}^{q-2} \binom{q-2}{i} \sum_{k=0}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-1)-k)}{k-i} x^{(q-1)(qm-(q-2)-k)-k-1},$$

since, for $n, i \geq 0$, $\binom{n}{-i} = 0$.

Now, using the result, $\sum_{i=0}^r \binom{r}{i} \binom{n}{k-i} = \binom{n+r}{k}$, we get

$$\begin{aligned} & \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-i} \\ &= \sum_{k=0}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-1)-k) + (q-2)}{k} x^{(q-1)(qm-(q-2)-k)-k-1} \\ &= \sum_{k=0}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-2)-k) - 1}{k} x^{(q-1)(qm-(q-2))-qk-1}. \end{aligned}$$

Hence, the equation (2.2) is true for $n = qm$.

Similarly, the result can be proved for $n = qm - 1, qm - 2, \dots, qm - (q - 1)$. This completes the proof of the lemma. $\square$

Theorem 2.3. For $n \geq q - 1$,

$$\begin{aligned} & \frac{dQ_{n+1}}{dx} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{dQ_{n-1-i}}{dx} \\ &= (q-1) \left[(n-(q-2)) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{n-i} - (q-2) \sum_{i=0}^{q-2} \binom{q-3}{i} x^{q-3-i} Q_{n-1-i} \right]. \end{aligned} \quad (2.3)$$

Proof. We prove the result for $n = qm, qm - 1, qm - 2, \dots, qm - (q - 2)$. Let $n = qm$ and consider

$$\begin{aligned} & Q_{qm+1} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-1-i} \\ &= \sum_{k=0}^{\left\lfloor \frac{(q-1)(qm-(q-2))}{q} \right\rfloor} \binom{(q-1)(qm-(q-2)-k)}{k} x^{(q-1)(qm-(q-2))-qk} \\ &+ (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \sum_{k=0}^{\left\lfloor \frac{(q-1)(qm-i-q)}{q} \right\rfloor} \binom{(q-1)(qm-i-q-k)}{k} x^{(q-1)(qm-i-q)-qk} \\ &= \sum_{k=0}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-2)-k)}{k} x^{(q-1)(qm-(q-2))-qk} \\ &+ (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} \sum_{k=0}^{(q-1)(m-1)-i} \binom{(q-1)(qm-q-(k+i))}{k} x^{(q-1)(qm-(q-1))-q(k+i)-1} \\ &= \sum_{k=0}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-2)-k)}{k} x^{(q-1)(qm-(q-2))-qk} \\ &+ (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} \sum_{k=i+1}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-1)-k)}{k-1-i} x^{(q-1)(qm-(q-1))-qk+q-1}, \end{aligned}$$

replacing k from second term with $k - 1 - i$

$$\begin{aligned}
 &= \sum_{k=0}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-2)-k)}{k} x^{(q-1)(qm-(q-2))-qk} \\
 &\quad + (q-1) \sum_{k=1}^{(q-1)m-(q-2)} \sum_{i=0}^{q-2} \binom{q-2}{i} \binom{(q-1)(qm-(q-1)-k)}{k-1-i} x^{(q-1)(qm-(q-2))-qk}, \\
 &\qquad\qquad\qquad \text{since for } k > n, \binom{n}{k} = 0 \\
 &= \sum_{k=0}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-2)-k)}{k} x^{(q-1)(qm-(q-2))-qk} \\
 &\quad + (q-1) \sum_{k=1}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-1)-k) + q-2}{k-1} x^{(q-1)(qm-(q-2))-qk} \\
 &= x^{(q-1)(qm-(q-2))} + \sum_{k=1}^{(q-1)m-(q-2)} \left[\binom{(q-1)(qm-(q-2)-k)}{k} \right. \\
 &\quad \left. + (q-1) \binom{(q-1)(qm-(q-2)-k)-1}{k-1} \right] x^{(q-1)(qm-(q-2))-qk}.
 \end{aligned}$$

Since $\binom{n}{k} = \frac{n}{k} \binom{n-1}{k-1}$, we have

$$\begin{aligned}
 &Q_{qm+1} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-1-i} = x^{(q-1)(qm-(q-2))} \\
 &+ \sum_{k=1}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-2)-k)-1}{k-1} \left(\frac{(q-1)(qm-(q-2))}{k} \right) x^{(q-1)(qm-(q-2))-qk}
 \end{aligned}$$

Differentiating both sides with respect to x and then simplifying, we get

$$\begin{aligned}
 &\frac{dQ_{qm+1}}{dx} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{dQ_{qm-1-i}}{dx} \\
 &\quad + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} (q-2-i) x^{q-3-i} Q_{qm-1-i} \\
 &= (q-1)(qm-(q-2)) \left[x^{(q-1)(qm-(q-2))-1} \right. \\
 &\quad \left. + \sum_{k=1}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-2)-k)-1}{k} \right] x^{(q-1)(qm-(q-2))-qk-1}.
 \end{aligned}$$

Therefore

$$\begin{aligned}
 &\frac{dQ_{qm+1}}{dx} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{dQ_{qm-1-i}}{dx} \\
 &= (q-1) \left[(qm-(q-2)) \sum_{k=0}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-2)-k)-1}{k} x^{(q-1)(qm-(q-2))-qk-1} \right. \\
 &\quad \left. - (q-2) \sum_{i=0}^{q-3} \binom{q-3}{i} x^{q-3-i} Q_{qm-1-i} \right].
 \end{aligned}$$

But, from Lemma 2.2, we have

$$\begin{aligned} & \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-i} \\ &= \sum_{k=0}^{(q-1)m-(q-2)} \binom{(q-1)(qm-(q-2)-k)-1}{k} x^{(q-1)(qm-(q-2))-qk-1}. \end{aligned}$$

Hence,

$$\begin{aligned} & \frac{dQ_{qm+1}}{dx} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{dQ_{qm-1-i}}{dx} \\ &= (q-1) \left[(qm-(q-2)) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-i} - (q-2) \sum_{i=0}^{q-3} \binom{q-3}{i} x^{q-3-i} Q_{qm-1-i} \right] \end{aligned}$$

Similarly, the result can be proved for $n = qm - 1, qm - 2, \dots, qm - (q - 1)$. $\square$

Theorem 2.4. For $n \geq q - 1$,

$$\begin{aligned} & \frac{dQ_{n+1}}{dx} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{dQ_{n-1-i}}{dx} \\ &= (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} (n - (q-2) - i) x^{q-2-i} Q_{n-i}. \end{aligned} \quad (2.4)$$

Proof. From Theorem 2.3, for $n = qm$, we have

$$\begin{aligned} & \frac{dQ_{qm+1}}{dx} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{dQ_{qm-1-i}}{dx} \\ &= (q-1) \left[(qm - (q-2)) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-i} \right. \\ & \quad \left. - (q-2) \sum_{i=0}^{q-3} \binom{q-3}{i} x^{q-3-i} Q_{qm-1-i} \right]. \end{aligned}$$

This implies

$$\begin{aligned} & \frac{dQ_{qm+1}}{dx} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{dQ_{qm-1-i}}{dx} \\ &= (q-1)(qm - (q-2)) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-i} \\ & \quad - (q-1)(q-2) \sum_{i=0}^{q-3} \binom{q-3}{i} x^{q-3-i} Q_{qm-1-i} \\ &= (q-1) \left[qm \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-i} - (q-2)x^{q-2} Q_{qm} \right. \\ & \quad \left. - (q-2) \left(\sum_{i=1}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-i} - \sum_{i=1}^{q-2} \binom{q-3}{i-1} x^{q-2-i} Q_{qm-i} \right) \right] \\ &= (q-1) \left[qm \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-i} + (q-2)x^{q-2} Q_{qm-i} \right] \end{aligned}$$

$$\begin{aligned}
& -(q-2) \left(\sum_{i=1}^{q-2} \binom{q-3}{i-1} \left(\frac{q-2}{i} - 1 \right) \right) x^{q-2-i} Q_{qm-i} \Big] \\
& = (q-1) \left[qm \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{qm-i} - \sum_{i=0}^{q-2} \binom{q-2}{i} (q-2-i) x^{q-2-i} Q_{qm-i} \right] \\
& = (q-1) \left[\sum_{i=0}^{q-2} \left(qm - (q-2-i) \right) \binom{q-2}{i} x^{q-2-i} Q_{qm-i} \right]
\end{aligned}$$

Similarly, the result can be proved for $n = qm - 1, qm - 2, \dots, qm - (q-1)$. $\square$

Theorem 2.5. For $n \geq 1$,

$$\begin{aligned}
(q-1) \frac{dQ_{n+q-1}}{dx} + \frac{dQ_{n-1}}{dx} &= n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{n+(q-2)-i} \\
&\quad + \sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d}{dx} \left(x^{q-1-i} Q_{n+(q-2)-i} \right). \quad (2.5)
\end{aligned}$$

Proof. Replacing n in equation (2.4) with $n + q - 2$, we get

$$\begin{aligned}
\frac{dQ_{n+q-1}}{dx} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{dQ_{n+(q-3)-i}}{dx} \\
= (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} (n-i) x^{q-2-i} Q_{n+(q-2)-i}.
\end{aligned}$$

This implies

$$\begin{aligned}
\frac{dQ_{n+q-1}}{dx} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{dQ_{n+(q-3)-i}}{dx} \\
+ (q-1) \sum_{i=0}^{q-2} (i+1) \binom{q-2}{i+1} x^{q-3-i} Q_{n+(q-3)-i} = n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{n+(q-2)-i}.
\end{aligned}$$

After further simplification, we get

$$\begin{aligned}
\frac{dQ_{n+q-1}}{dx} + (q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} \frac{d}{dx} \left(x^{q-2-i} Q_{n+(q-3)-i} \right) \\
= n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{n+(q-2)-i}.
\end{aligned}$$

Hence, we have

$$\begin{aligned}
\frac{dQ_{n+q-1}}{dx} + (q-1) \frac{dQ_{n-1}}{dx} + (q-1) \sum_{i=1}^{q-2} \binom{q-2}{i-1} \frac{d}{dx} \left(x^{q-1-i} Q_{n+(q-2)-i} \right) \\
= n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{n+(q-2)-i}.
\end{aligned}$$

Adding $\sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d}{dx} \left(x^{q-1-i} Q_{n+(q-2)-i} \right)$ on both the sides and simplifying, we get

$$\frac{dQ_{n+q-1}}{dx} + (q-1) \frac{dQ_{n-1}}{dx} + (q-1) \sum_{i=1}^{q-2} \binom{q-2}{i-1} \frac{d}{dx} \left(x^{q-1-i} Q_{n+(q-2)-i} \right)$$

$$\begin{aligned}
& + (q-2) \frac{d}{dx} \left(x^{q-1} Q_{n+(q-2)} \right) + \sum_{i=1}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d}{dx} \left(x^{q-1-i} Q_{n+(q-2)-i} \right) \\
& = n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{n+(q-2)-i} + \sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d}{dx} \left(x^{q-1-i} Q_{n+(q-2)-i} \right).
\end{aligned}$$

On further simplifying, we get

$$\begin{aligned}
& \frac{dQ_{n+q-1}}{dx} + (q-2) \frac{d}{dx} \sum_{i=0}^{q-1} \binom{q-1}{i} \left(x^{q-1-i} Q_{n+(q-2)-i} \right) + \frac{dQ_{n-1}}{dx} \\
& = n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{n+(q-2)-i} + \sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d}{dx} \left(x^{q-1-i} Q_{n+(q-2)-i} \right).
\end{aligned}$$

Thus, we have

$$\begin{aligned}
(q-1) \frac{dQ_{n+q-1}}{dx} + \frac{dQ_{n-1}}{dx} & = n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} Q_{n+(q-2)-i} \\
& + \sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d}{dx} \left(x^{q-1-i} Q_{n+(q-2)-i} \right).
\end{aligned}$$

This proves the theorem. $\square$

Next, we have a result for r^{th} derivative of B - q bonacci polynomials.

Theorem 2.6. For $r \geq 1$ and $n \geq (q-1)r$,

$$\begin{aligned}
(n - (q-1)r) \frac{d^r Q_{n+q-1}}{dx^r} & = n \sum_{i=0}^{q-1} \binom{q-1}{i} x^{q-1-i} \frac{d^r Q_{n+(q-2)-i}}{dx^r} + (n+r) \frac{d^r Q_{n-1}}{dx^r} \\
& - r \sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d^r}{dx^r} \left(x^{q-1-i} Q_{n+(q-2)-i} \right) \\
& + n \sum_{i=0}^{q-2} \binom{q-1}{i} \sum_{k=2}^{q-1-i} \binom{r}{k} (1-k) \frac{d^k}{dx^k} (x^{q-1-i}) \frac{d^{r-k} Q_{n+(q-2)-i}}{dx^{r-k}}. \tag{2.6}
\end{aligned}$$

Proof. Differentiating equation (2.5) $(r-1)$ times with respect to x , we get

$$\begin{aligned}
(q-1) \frac{d^r Q_{n+q-1}}{dx^r} + \frac{d^r Q_{n-1}}{dx^r} & = n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} \frac{d^{r-1}}{dx^{r-1}} \left(x^{q-2-i} Q_{n+(q-2)-i} \right) \\
& + \sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d^r}{dx^r} \left(x^{q-1-i} Q_{n+(q-2)-i} \right). \\
& = n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{d^{r-1}}{dx^{r-1}} \left(Q_{n+(q-2)-i} \right) \\
& + n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} \sum_{k=1}^{q-2-i} \binom{r-1}{k} \frac{d^k}{dx^k} (x^{q-2-i}) \frac{d^{r-1-k}}{dx^{r-1-k}} \left(Q_{n+(q-2)-i} \right) \\
& + \sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d^r}{dx^r} \left(x^{q-1-i} Q_{n+(q-2)-i} \right).
\end{aligned}$$

Hence,

$$\begin{aligned}
 (q-1) \frac{d^r Q_{n+q-1}}{dx^r} + \frac{d^r Q_{n-1}}{dx^r} &= n(q-1) \sum_{i=0}^{q-2} \binom{q-2}{i} x^{q-2-i} \frac{d^{r-1}}{dx^{r-1}} (Q_{n+(q-2)-i}) \\
 &+ n \sum_{i=0}^{q-2} \binom{q-1}{i} \sum_{k=2}^{q-1-i} \binom{r-1}{k-1} \frac{d^k}{dx^k} (x^{q-1-i}) \frac{d^{r-k}}{dx^{r-k}} (Q_{n+(q-2)-i}) \\
 &+ \sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d^r}{dx^r} (x^{q-1-i} Q_{n+(q-2)-i}). \tag{2.7}
 \end{aligned}$$

Now, differentiating equation (1.2), r times with respect to x and multiplying through out by n , we get

$$\begin{aligned}
 n \frac{d^r Q_{n+q-1}}{dx^r} &= n \sum_{i=0}^{q-1} \binom{q-1}{i} x^{q-1-i} \frac{d^r Q_{n+(q-2)-i}}{dx^r} \\
 &+ nr(q-1) \sum_{i=0}^{q-1} \binom{q-2}{i} x^{q-2-i} \frac{d^{r-1} Q_{n+(q-2)-i}}{dx^{r-1}} \\
 &+ n \sum_{i=0}^{q-1} \binom{q-1}{i} \sum_{k=2}^r \binom{r}{k} \frac{d^k}{dx^k} (x^{q-1-i}) \frac{d^{r-k} Q_{n+(q-2)-i}}{dx^{r-k}}. \tag{2.8}
 \end{aligned}$$

Using (2.7) and (2.8), we get

$$\begin{aligned}
 (n - (q-1)r) \frac{d^r Q_{n+q-1}}{dx^r} &= n \sum_{i=0}^{q-2} \binom{q-1}{i} x^{q-1-i} \frac{d^r Q_{n+(q-2)-i}}{dx^r} + (n+r) \frac{d^r Q_{n-1}}{dx^r} \\
 &- rn \sum_{i=0}^{q-2} \binom{q-1}{i} \sum_{k=2}^{q-1-i} \binom{r-1}{k-1} \frac{d^k}{dx^k} (x^{q-1-i}) \frac{d^{r-k}}{dx^{r-k}} (Q_{n+(q-2)-i}) \\
 &- r \sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d^r}{dx^r} (x^{q-1-i} Q_{n+(q-2)-i}) \\
 &+ n \sum_{i=0}^{q-1} \binom{q-1}{i} \sum_{k=2}^{q-1-i} \binom{r}{k} \frac{d^k}{dx^k} (x^{q-1-i}) \frac{d^{r-k} Q_{n+(q-2)-i}}{dx^{r-k}}.
 \end{aligned}$$

Since $r \binom{r-1}{k-1} = k \binom{r}{k}$, we get

$$\begin{aligned}
 (n - (q-1)r) \frac{d^r Q_{n+q-1}}{dx^r} &= n \sum_{i=0}^{q-2} \binom{q-1}{i} x^{q-1-i} \frac{d^r Q_{n+(q-2)-i}}{dx^r} + (n+r) \frac{d^r Q_{n-1}}{dx^r} \\
 &- r \sum_{i=0}^{q-2} \binom{q-1}{i} (q-2-i) \frac{d^r}{dx^r} (x^{q-1-i} Q_{n+(q-2)-i}) \\
 &+ n \sum_{i=0}^{q-2} \binom{q-1}{i} \sum_{k=2}^{q-1-i} \binom{r}{k} (1-k) \frac{d^k}{dx^k} (x^{q-1-i}) \frac{d^{r-k} Q_{n+(q-2)-i}}{dx^{r-k}}.
 \end{aligned}$$

This completes the proof of the theorem. $\square$

3 Conclusion

In this paper, we have used a combinatorial representation of B -q bonacci polynomial and it's generating function to obtain the results involving derivatives of B -q bonacci polynomials. We

have also obtained a result on the r^{th} order derivative of B - q bonacci polynomials.

References

- [1] S. Arolkar and Y. S. Valaulikar, *On a B - q bonacci sequence*, Int. j. adv. math., **2017(1)**, 1–8, (2017).
- [2] S. Arolkar and Y. S. Valaulikar, *On Two New Classes of B - q - bonacci Polynomials*, J. Integer Seq., **21**, Article 18.4.1, (2018).
- [3] S. Arolkar and Y. S. Valaulikar, *On the derivatives of B -Tribonacci Polynomials*, Notes Number Theory Discrete Math., **28(3)**,491–499,(2022).
- [4] S. Falcon and A'. Plaza, *On k -Fibonacci sequences and polynomials and their derivatives*, Chaos Solit. Fractals, **39(3)**, 1005–1019, (2009).
- [5] P. Filipponi and A.F. Horadam, *Derivative sequences of Fibonacci and Lucas polynomials*, Applications of Fibonacci numbers, Springer, Dordrecht, **4**, 99–108, (1991).
- [6] A. F. Horadam and P. Filipponi, *Morgan-Voyce polynomial derivative sequences*, The Fibonacci Quart., **39**, 116–122, (2001).
- [7] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, A Wiley-Interscience Publishing, Canada (2001).
- [8] C. Levesque, *On m th-order linear recurrences*, The Fibonacci Quart., **23**, 290 –293, (1985).
- [9] Y. Soykan, *Simson Identity of Generalized m -step Fibonacci Numbers*, Int. j. adv. appl. math. mech., **7(2)**, 45–56,(2019).
- [10] M. Taştan, E. Özkan, and A. G. Shannon, *The generalized k -Fibonacci polynomials and generalized k -Lucas polynomials*, Notes Number Theory Discrete Math., **27(2)**, 148–158, (2021).
- [11] T. Wang and W. Zhang, *Some identities involving Fibonacci, Lucas polynomials and their applications*, Bull. Math. Soc. Sci. Math. Roumanie, **55**, 95–103, (2012).
- [12] Y. Yuan and W. Zhang *Some identities involving the Fibonacci polynomials*, The Fibonacci Quart., **40(4)**, 314–318, (2002).

Author information

S. Arolkar, Department of Mathematics and Statistics
 Dnyanprassarak Mandal's College and Research Centre
 Assagao-Goa
 403 507, India.
 E-mail: suchita@dmscollege.com, suchitagolatkarakar2911@gmail.com

Y.S.Valaulikar, Ex-faculty, Department of Mathematics
 Goa University
 Taleigao Plateau Goa
 403 206., India.
 E-mail: valaulikarys@gmail.com